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B. A. EXAMINATION

(For Batch 2011 to 2016 Only)
(Sixth Semester)
HISTORY

Opt. 1
Modern World

Time : Three Hours Maximum Marks : 80

Note : There are total 11 questions in this question
paper. Attempt any Five questions. One
question from each part is compulsory. Each
question is of 16 marks. Solving the map
question is compulsory. Visually impaired
students can solve any other question instead
of the map question, if any of them solves
the map question, he will be given full
marks.
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Part]

Write a note on the major causes for the rise

of Renaissance and its features. 16

Describe the main features of Mercantilism

and causes for decline. 16

Give a detailed account of Economic, Social

and Cultural effects of Industrial revolution. 16
Part 11

Give a detailed account for the causes and
effects of the glorious revolution of England
in 1688. 16

Give a detailed account of American revolution.
16

Describe the contribution of Philosophers in

the French revolution. 16
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10.

11.

Part II1

Describe the causes and events of the Chinese
revolution of 1911. 16

Give a detailed account of causes of First
World War. 16

Critically examine the Paris Peace Settlement.
16

Part IV
Show the Europe of 1789 on the map of
Europe and write note on it. 10+6
Or
Show the Polarization of Second World War
on the map of Europe and write note on it.

PartV

(a) Attempt any three questions briefly. Each
question carries 2 marks : 3x2=6

(i) Which artist made Mona Lisa ?
(ii) Who wrote Wealth of Nations ?
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(b)

B-5690

(iii) Who used the word Industrial
Revolution first time as idiom ?

(iv) Who wrote the book Common
Sense ?

(v) Who wrote the book ‘Spirit of
Law’ ?

(vi) Which Passenger' Ship of America
was destroyed by Germany during

First World War ?

Choose the correct answer in the given
multiple choice questions :
I+1+1+1+1=5

(i) Which degree was adopted by the

big feudal in Medieval Europe :

(1) - Nite

(2) King

(3) Baron

(4) Duke or Count

4

" (i)

(iii)

(iv)
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Who is called as “Prophet of

Agriculture” from the names given

below :

(1)
2
3)
(4)

Cartwright
Adam Smith
Arthur Young

James Watt

When was Bastil decline :

(1)
()
(3)
4)

Which was

1788
1789
1790
1791

main cenire

Portuguese in China :

(1)
(2)
(3)
4)

Makao
Manchuria

Canton

Shanghai

of
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(c)
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(v) In the given below, which was the
product of Woodrow Wilson's
mind ?

(1) 10 Point Programme
(2) 11 Point Programme
(3) 13 Point Programme
(4) 14 Point Programme
Match Correctly the following :
I+1+141+1=5
A 2 4

(i) Bank of England (a) 1832

(ii) First Parliamentary '
Reform Act (b) 1914

(iii) Bosnia Crisis (c) 1792
(iv) Starting of First
World War (d) 1694

(v) Hanging of Lui XVI (e) 1906 A
(Hindi Version)
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16
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11. (&1) fr=fafas & @ 5=l dw & g 3=

(=)
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AT | TEFE AR 2 HF F 1 3x2=6

(i) wfow 59 FowrR &1 yfag
Ffa & 2

(i) deu sE FAvw frw =R 3
foreft off ?

(iii) - SWEfs wifd W & wE wem
aR e R g T R @
® ¥ fem o g 2

(iv) =T ¥4 (Common Sense) Y&FH
fras faet 2

(v) &FrFa & o f&w das &t
w2

(vi) v fava 9 & dww wFR 3
it & fre el e W T
R fgar e ?

fr=fafas sgfosedt oo & @@ 3@

w1 F99T Hifgu 1+1+14+1+1=5

(i) woAwR Wy § s gm= e
¥ ¥ Hdt s uRo w9 .
(1) =mge
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(ii)

(iii)

(iv)

(2) T

(3) @

(4) g% A FEe
frafafes 4 9 fees iy wi
w1 Y w8 2

(1) e

(2) wsn Ty

(3) sndr =

(4) ST Ee

A % YA H YT FA g 7
(1) 1788

(2) 1789

(3) 1790

4) 1791
qamfeEl 3R W9 W wenfm #e
HFE e ?

(1) waeh

(2) w=fen

(3) =

(4) @z

10

(v) Frfafes & 9 s 920 oo

% femm #t suw et ?
(1) 10 g =rwa
(2 11 T FEEw
(3) 13 i Frww
4) 14 T FEiFEw

(w) F=fafan =1 @& faem =g .

1+1+1+1+1=5
A B

(i) =% 3w Fewe (a) 1832
(i) vem WO guUR o

Hfufaam (b) 1914
(i) wife=n H$e (c) 1792

(iv) vom fava g 1

3 (d) 1694

(v) 98 WaEd H W (e) 1906
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